CDF Run IT Preliminary

Z/v* — 1717+ > 3 jets inclusive (1 = e, p)

Integrated luminosity L = 9.64 fb—T

[yet| do/d|y[et[fb] | (stat.) (syst.) (lum.) | parton — particle
0.0-0.3 69.1 +53 | +9.6 —11.6 | +4.0 1.127 £ 0.007
0.3-0.6 52.8 +4.5 +85—-7.5 +3.1 1.123 £ 0.007
0.6-0.9 52.8 +4.6 +7.6—-7.2 +3.1 1.123 £ 0.008
0.9-1.2 34.2 +3.7 +5.8 —4.5 +2.0 1.125 £ 0.008
1.2-1.5 35.5 +3.6 +5.2-5.1 +2.1 1.119 + 0.009
1.5-1.8 30.0 +3.0 +5.8—-6.7 +1.7 1.112 £ 0.010
1.8-2.1 18.2 +2.2 +4.2 -4.0 +1.1 1.103 £ 0.012




